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=1 — o o BR&EH . RHRRESET
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iREES iy BB LT AHRET 3H(£) A& 9.5
AEES ARF+ 8L PR BT AR HE | 28H CX) & 10.5
EESES HUT7S5T— FHA R/ \EFHT 28H () A& 8.7
AEEES BEP 8L = HET 2H (K) A& 13.8
5 [Hx F Y ERLLITH RHRET 8H (7k) & 13.0
6 |FFx F Y BUmHAMETsE | 3H(&E) & 9.3
MEES Fr Y BUmHAETSE | 3H(®) & 10.0
I EES F Y LA BEFHEETNT B | 288 (N) ~EE 17.4
CIEES FrRY a8]llm 168 (KX) & 10.8
10 |82 Faol BT Z1E0] 5 28H (N) A& 10.7
EES EE ERLLTH RHRET 21H(B) ~EH 11.7
12 |8 Faol EB LT AHEET 28H (N) A& 7.2
13 |83 Faol EB LT AHEET 29H (7K) A& 9.9
MEES EE BB A ST 108 (2) ~EE 11.3
15 |82 Faol LT AT SR 10H (&) A& 9.3
IFEES FaDl) ELLUHHFEBI/\T B | 29H (k) A& 8.4
IHEES FaDl) —_ AT 23H (K) A& 8.5
FEES Fa1oU BE™ 108 (2) ~EH 17.5
19 |83 Fa1Dl) BE™ 22H (7K) A& 8.5
20 B 7YX 8L HANERET 22H (7K) A& 15.9
AIEES I 1T 8L LIt ZiamT A H 22H (7K) A& 8.7
22 |BE I 1T EB LI AHEET 17H(£) A& 1.7
23 |FE T H1E BRI AHRET 228 (k) ~EE 8.8
24 |FFE T A1 E BRI AHRET 21H(B) ~EE 9.3
25 |FE T H1E BRI AHRET 21H(B) & 7.6
26 |FF T H1E BRI AHRET 21H(B) ~EE 10.9
I EEES T A1 E BB A SFET 21H(B) ~EE 6.2
28 |F¥ I A E EB LI AT 14H (N) A& 7.8
29 | I A E EB LI AT 14H (N) A& 6.0
N EES I 1 E L PAEHBIRAER | 17H (&) A& 6.7
I EES I 1 E 8L HANERET 2TH(H) A& 12.7
32 |FE T HA1E L =FHEJIH| 3H(&) & 5.9
33 |FE T H1E BT =" H8T]IIH [ 106 (£) & 8.5
34 |FFE T HA1E B LT == HET]ITH | 285 (N) & 10.7
I EES AvF—= BRI AHRET 88 (k) & 10.8
36 |Fx AvF—= BRI AHRET 28H (N) T 8.0
37 |FE AvF—= — A 21H(B) & 15.1
LI EES USI X ELLMENEIAZES | 9HOK) & 9.9
I EES EEE=P] BRI AHRET 105 (£) T 7.5
40 [Hx EEE=P] BRI AHRET 13H(A) L 11.4
INIEES EEE=P] BRI AHRET 20H(B) L 9.5
YR ES ERt=P BB LT AHEET 29H (k) IS 9.5
R EES ERt=P BB LT AHEET 29H (k) IS 7.7
M EES ERt=V BLHHEMEINATE| 28H(CX) IS 22.0
45 [Hx EEE=P] B LT =+#=MEET]ITH | 108 (£) ~iEH 1.4
46 |FFR =P — A 21H(B) ~iEE 13.6
N EES Ay A= 148 (N) ~iEE 8.3
48 [Hx IIZF EBLHEENZFE | 13H(B) ~iEE 9.7
49 [Hx IIRZF BB LT AT 68 (B) ~iEE 10.5
IEES IIZF BT AHRET 78 (N) ~iEE 8.5
S EES IIZF BT AHRET 108 (&) ~iEE 7.0
R EES IIZF BT AHRET 138 (8) ~EE 9.6
EEEES IIZF BT AHRET 178 (&) ~iEE 9.0
AEES IIRZF ERLLIT AT 108 (2) ~iEE 9.1
S EES IIZF ERLLIT AT 17H(Z) ~EE 14.3
EES I ZF ELUHEAHTFIHR | 24H (&) AR 10.6
57 |FF=% IIRZF ERLThERF 30H (K) & 8.5
TEES IIYZF B ENETAZS | 15H (k) ~EE 9.6
IEES IIYZF LT HELEER | 21H(8) ~EE 9.2
60 |3 N RZF LU PAAHBTRER | 17H (8) AR 7.0
61 |53 N FRF 8L HA0EHET 17H(2) AR 5.5
YARESES N FRF FLTHAHEISE | 21H(X) AR 5.5
63 |FFxE N FRF LT HIAHEISE | 28H(X) AR 9.1
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64 |[BFE AN H%F BT HFIEBI\T B | 28H(N) A& 13.1
65 [ AN H%F BT HFAIEBI/NT B | 29H (k) A& 8.8
66 [Fix FIRZF LU =FEHATJIIE | IH(CK) NS 8.8
67 |[Bx k¥ b 8L HADERET 271H(8B) A& 8.8
68 |[FxE k¥ b 8L HADERET 271H(8B) A& 8.4
69 [Fix F X BB LI T AHET 27H(8) NS 12.4
70 [Hx F X EBLLI T AHIET 29H (7k) T 12.8
I EES + R 8L A ST 27TH(B) A& 9.0
72 |Hx F R LT =FEHATIIH | 24H(£) T 8.6
73 |5E . BB LI AHEET 3H (&) 13.8 9.7
IMEES —Iv 8L =FEHATJIIH | 305 (K) T 8.1
75 [Hx —V=5 BT ZENFRE | 206(A) NS 11.3
EES —V=5 BB LI T A HET 20H (B) NS 8.7
EES —V=5 EBLLI T A HET 20H (B) T 14.3
78 |Hx —V=5 EBLLI T A HET 22H (k) T 7.9
IEEGES V=7 BB A ST 10H (%) A& 11.3
80 [Hx V=7 8L AT RTAECE | 8H (k) T 12.8
I EES V=7 L PAAHBIEER | 17H (8) A& 6.8
82 [ V=7 8L HAOERET 21H(N) A& 8.6
83 |[Bx% V=7 EBILUHHAMEITSE | 21H(X) A& 10.6
A EES V=7 UM HANEETSE | 28H(X) A& 16.4
85 |[BF% J0Ov3dl)— ag]llm 16H () A& 14.9
86 |[FF% SvF¥ay L™ 20H(8) A& 8.9
87 | SwF3y B8 HAN B ET 21H(N) A& 7.8
I EES LY X EB LI AHEET 3H (&) A& 9.4
89 [¥F% LY X EB LI AHEET 20H(H) A& 12.6
90 [¥% P EB LI AHEET 30H (K) A& 14.5
91 (¥ LY X BUTEAHITERR| 3H(E) A& 13.4
LYEES EF aglllm 1H (7k) & 15.8
03 |k GiPk. B=k®) |[FFEIK BB LT AT 14H (N) ISR 5.0
94 [k GiFk. BEX®) [FHFEK B HNEIAES | 271H(B) T 5.3
05 |k Gipk. B=k=) |[FFEIK EIGA=ENEL ] 23H (K) IS 5.6
96 [k GiFk. BEX®) [FHFEK L EAEET/\T B[ 28H (X) T 14.5
97 |k GiPk. B=k=) |[FFEIK ANE=&H] 13H(H) IS 8.8
08 |k GiPk. m=kZ) [BIK E G ] 30H (K) IS 8.7
99 |k GiPpk. B=kZ) [BIK BT HEIRRE | 228 0K) A& 8.9
100 [l -=0cFE[DFR R ER A | L] 7H(N) NS 12.9
IINEREDR: ] S £8 1L iR BT ch By 21H(H) A& 8.5
102 [ -En2F[DILT I ] 2H (K) NS 9.9
103 [ -FDCFE|[DDNZVD 2EWA 6H(H) A& 9.1
106 [ -FDOCFE|[DDONZVD E e 10H (%) A& 10.5
105 [ = [DDUN=VY  [ElLmEBE GiE 7TH(X) NS 11.2
106 [ -FDCFE|[DDNZVD £8 1L iR BT ch By 20H(H) A& 14.6
107 -T2 ([D9UNZVY [BLUTH=NRE [ 17TH(&) NS 7.8
108 [ =D [NV Y |[EEMEERRE 178 () NS 9.4
109 [ =D [DTUN=VY [EEmMEILERN 6H(8) & 15.6
110 (LR -FEncfE|(y¥5 /3 EE 10H (%) AR 10.7
M [WE-ZncfE|(y¥5 /3 8L AHRET 3H (%) 12.2 5.6
112 [ -ZEncfE|(y¥5 /3 8L AHRET 13H(H) 17.9 1.7
M3 [ -EnciE (¥~ /3 BB LT AT 21H(A) ENETE 7.3
(I NEREDDR AL L h= A HHET 6H(H) 25.3 10.4
15 [ -2 |(y¥5 /3 EBUTEAHIE W] 7THCN) AR 6.4
16 (LR -Z=0cFE|(y¥5 /3 LI iREa T 6H(H) 16.5 8.6
M7 [LE-ZE0cfE|(y¥5 /3 FINGA=E=:] 6H(H) 18.4 9.2
118 [ - (¥~ /3 BILUHHENITAEZS [ 2H(K) NS 8.6
(EENNEREDDR L= 8L PR EHET 20H(H) AR 10.3
120 2 - EncF [~/ B Fa AT 28H (N) & 7.2
121 [ -ZEncfE|(y¥5 /3 FRLLm HF0EHET 6H(H) AR 10.6
122 I -FncFE (#7730 EB|LTh == HE] 135(8) T 9.6
123 [ -EncfE (5 ./3 8L Th =2 BT 23H (K) AR 11.3
126 [IIEE-FncFE [~/ LT =FEHE]/\i& | 2H(CK) 19.4 10.0
125 [ -Encf (5 /3 Jag)llmh TH(N) 39.0 9.4
126 (LR -ZEncFE |5/ B8]l 20H(A8) AR 1.7
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127 [ILE-=0cFE[F#45 ./ a8l 28H (N) ESE 6.2
128 [ILE-=cFE[#45 ./ ag)llm 28H (N) ESE 6.3
129 [ILE-=0cFE[F#5 /0 a8l 8H (7k) 16.2 14.2
130 [ -FncFE |5/ H 8 =FH] 13H(H) A& 10.6
131 [ILE -0 [¥#5 /O — At 2065 (B) ESE 9.2
132 UJ%-ﬂéa) LB — At 10H (£) ESE 8.2
133 [lUFE -=DCFE[(H5 /3 pE N ] 28 (K) 176.5 15.6
134 Uﬁ-%@:i 53 WNIEEBARERT 1485 (N) 762.0 10.2
135 [l - = cFE [F5 /3 (Gn) [BBLmARHE] 148 (N) ESEE 7.8
136 [IUE =0 (¥4 /0 (zn) |[BRLHmEXAHE] 28H (N) ESEE 11.1
137 [l - =[5/ 3 (Zn) |BLUTHHENBEISHAII | 1H(K) T 12.3
138 [l -=cFE |44 /3 (@) [EBLmraHE 68 (8) NS 9.6
139 [lUIEE -T2 |[#4 /3 (@n) [ESUmHAMBEEISE | 3H(®) 16.9 6.9
140 [l - =QCFE[H4 /3 (Zn) BT =#EHEIEE | 8H (k) T 11.0
I NERE A EPERC IR EELE 22H (k) T 9.3
182 [ -=0cE (5 /3 (@) |[HNE=FH] 30 (&) T 8.0
143 [l -=0cFE (45 /3 (@) |[HNE=FH 9H (K) T 9.9
14 [l -=0cFE (45 /3 (@) |[HNE=FH] 13H(8) 8.4 5.4
145 [l -=0cfE (45 /3 (@) |[HNm 9H (K) A& 10.0
146 I - T (7 /0 (Zn) |WNEESAFEH 14H (N) 299.3 12.0
147 [IIEE - T [F X3 (@) EXhAm 278(8) 34.0 9.5
148 I - T cfE [ X3 (@) EXhAm 27H(B) NS 14.3
49 I -=TDCH =~ AVsT (@) |=2AhAm 27H(B) T 10.1
150 [IIE - EDCHE [=~AUSS (#n) |ERFER B Em ol 7TH(X) 22.2 9.4
151 [UE-EDncFE [T+ ] 108 (£) T 11.3
152 [ - =0 cFE |7+ BB 2T 8H (7K) T 9.9
153 |[ILE =D |[T7F BB LT AHRET 158 (7K) ISR 18.2
154 [IIE-=DCFE|[T7F BB LT AHRET 27TH(B) ISR 9.9
155 [ - =0 cFE|[7+ BB LU 8 e BT SR EF 2H(K) T 8.0
156 [z -T2 |7+ EILTHHEETEAFE| 1H(K) A& 15.7
157 [l - =0 cFE |7+ L AmIER 68 (B) T 11.8
158 [l - =0 |7+ BB\ HAN BT 7H(N) NS 15.9
159 [ - =0 cFE|[7+ HA™ 9H (K) NS 10.3
160 [z - =D |7+ HA™ 13H(8) NS 11.3
161 [l - =0 [T+ E=IEAIIER 6H(H) & 10.9
YA NEREHARES WEEESARER] 2H(K) 73.3 13.2
163 |[ILIE--=DCFE|[T7F B8R e O] 178 (£) IS 7.3
NEREHARE: ERmERILIE R 108 (£) & 14.6
165 [ = CFE [7+ (7n) TEEBAREN 2H(K) NS 7.7
166 [+ =% |7+ (Zn) EBLLI T AT 6H(H) NS 8.0
167 [ILIZR-=cFE[7F (Zn) EILmHEMNBEIERII | 1H0K) IS 12.2
168 [z - =D CFE [7+ (7n) =D 6H(H) NS 7.6
169 [ = CFE 7+ (7n) HA ™ 9H (K) NS 7.8
170 [ - =2 [7+ (@n) HA ™ 108 (£) NS 9.3
17 [LE-F0ciE|[7F (@) B8R e O] 7TH(N) NS 9.3
172 [ILIEE -0 ([7F (&) B8R e O] 8H (X) 11.5 10.8
173 [ - =02 [U3E SEMA 23H (AK) T 13.4
174 [ - =02 [DUSE SEEINT T8 (K) & 12.2
175 [ - =02 [U3E SEEINT 21H(CN) & 15.6
176 [ - =0 [DUSE e 108 (£) NS 11.2
177 [ - =02 [DUSE BT HBTEE] | 17H (£) & 11.7
178 [ - =0 [DUSE —AWTH 6H(H) NS 9.0
179 [ - =02 [USE B8R e O] 17H(Z) & 8.5
180 [ =DCEE[VSE (KTkR) [&2HA 6H(H) & 9.9
181 I - =0k [75F (Ktik) |[ENT 8H (7k) NS 7.0
182 [ - T [75E (KtHk) [ERMERREERHE] 7H(N) & 13.5
183 [BNFE 17F SRERAR R 21H(N) & 12.7
184 [N SPER; LT PHET EG  [16HCK) & 10.0
185 [BNFE X B8R s e (O] 14H (N) 38.2 18.6
186 |R= 7R ELUTHENEIEE [ 27H(B) T 9.6
187 [&B=E X (F18) agﬁﬁﬁzﬂ 135(8) T 11.2
188 [E=E X (F18) B LhZEiEl 271H(B) T 11.5
189 [E=E X (F18) BLmhziEE/ll [ 1353(8) T 11.3

X RHRFEREE “TRE” ERRo

SEFEEM @ BT



BREETRFOMNERERER GHRIEXL 1 —-L4) 4/5

REHR - FR28E6H1H (k) ~FER2856830H (k) (BAQT @ A" 9LIb/kg)
=1 — = o ®R&ER X RHRRESET

=o Ah5F3Y mE FRENHE 68) t994134+137 (b994136+137)

190 [ER= T X (518) BT ZEIEALR | 13H(B) NS 7.4
191 |B=E T X (518) B ZERIRE | 22H (K) T 9.5
192 |[R=E DX (518) ELmEEET NMEEE | 2TH(B) A& 6.3
193 [E= T X (518) LU EGERTRIL | 29H (OK) NS 6.9
194 |B=E T X (518) BB LI T AHET 10H (&) NS 7.4
195 [&= T X (518) BB LI T AHET 10H (&) NS 6.4
196 [ER= T X (518) EBLLI T AHIET 13H(H) T 6.8
197 [&B= T X (518) EBLLI T A HET 14H (N) T 7.0
198 [E= T X (518) EBLLI T A HET 14H (N) T 12.0
199 [E= T X (518) EBLLI T A HET 16H (K) T 6.3
200 [E= T X (518) EBLLI T AHIET 20H (B) T 6.5
201 [E= T X (518) EBLLI T AHIET 21H(N) NS 7.4
202 [E= T X (518) BB LI T A HET 22H (k) NS 9.2
203 [E= T X (518) EBLLI T A HET 22H (k) T 6.1
IEES T X (518) EBLLI T A HET 23H (R) T 6.8
205 |R= DX (518) BB LI AHEET 24H (&) 8.6 8.2
206 [ER= T X (518) EBLLI T A HET 27H(R) T 9.9
207 |R= DX (518) EB LT AHEET 29H (7k) 9.4 6.7
208 |R= DX (518) BB LT AHEET 30H (K) A& 10.6
209 [E= T X (518) BB LT AT 30H (K) NS 10.0
210 [EBE= T X (518) BB A SFET 15H (k) NS 7.9
AEEES T X (518) BB A SFET 22H (k) NS 8.0
AVIEES T X (518) 8L = A HHE] 27H(B) T 12.8
213 [B= T X (518) 8L = A HHE] 278(8) 19.3 7.5
AEES T X (518) BB AR 15H (7k) T 6.8
215 [EB= T X (518) BB AR K 29H (7k) T 7.2
216 [ER= T X (518) BB A BEK 30H (R) NS 6.2
217 [B= T X (518) 8L AR 148 (N) T 8.1
218 [E= T X (518) 8L AR 206 (B) T 7.9
219 [E= T X (518) 8L AR 27H(B) NS 11.3
220 [E= T X (518) BB L ARET 35 (&) T 6.4
221 |R=E I X (518) EB LT ARET 27TH(H) A& 8.9
222 |R=E I X (518) EB LT ARET 29H (7K) A& 10.2
R EES T X (5i) EIG=¢ 23H () NS 5.8
Y EES T X (5i) EIG=¢ 23H () & 5.7
225 [EB= T X (5i) BLUHHENETEE [3080K) NS 7.6
226 |R=E I X (518) EBLLmhiR 22H (7K) A& 6.2
EES T X (5i) 8L HBLEZE | 298 (0K) & 6.1
228 |R= I X (518) EB 1L P EHET 1485 (X) A& 5.3
229 [EBE= T X (5i) EBLLI T 5 A0 HE] 13H(8) NS 6.4
230 |R= I X (518) 8L HANERET 21H (N) A& 8.1
231 [B= T X (5iE) EBLLI T 5 A0 E] 215 (N) NS 7.2
232 |R=E I X (518) £81L T HF0 BT 24H (&) A& 6.6
233 [B= T X (5i) LT HMBEISE | THCN) NS 5.3
FEEES X (518) LM BEIHESE | 271H(B) 13.8 7.6
235 |R=E X (518) ELUHHFEEIN\TE| 27TH(B) AR 5.5
236 [EBE=E T X (5i8) BB\ LITh =FEHE] 148 (N) T 6.6
237 [B=E T X (5iE) ERILT=FEHBT/IHE | 27H(8) & 8.7
238 [E=E T X (5iE) ERILT=FEHBT/IHE | 27H(8) & 8.6
239 [EBE=E T X (5i8) HAN A =ZH] 27H(B) NS 5.9
240 [E=E T X (5iE) —AWTH 206 (B) & 6.9
NIEES T X (5iE) WNEEEBAFERT 17H(£) 21.9 9.7
IV EES T X (5iE) A= 108 (£) & 6.7
243 [EB=E T X (5iE) A= 248 (£) & 6.6
T EES O X (F1vE) |ZEBAREN 206 (B) NS 7.1
245 |BREE DX (5/1vs) B 10H (%) 26.7 9.0
246 [ERE o X (F/\8) |BLLT 7TH(N) & 7.3
INEES o X (/) BT EERZFE | 10H(R) & 7.7
248 [ER=E o X (F/vE) BB AHRE] 3H(£) T 8.1
249 [ER=E o X (F/vE) BB AHRE] 6H(8) T 1.4
250 [E=E o X (F/vE) BB AHRE] 10H (&) T 7.9
251 [&B=E o X (F/vE) |ELTHEAHE] 14H (N) T 6.1
252 |R=E I X (F/uwe) [BLUHEARBIERER| IHK) AR 9.3

X RHRFEREE “TRE” ERRo SEFEE - EBLL



BRHEETEFOMSEREER GEREXLF1—L4) 5/5
REHR - FR28E6H1H (k) ~FER2856830H (k) (BAQT @ A" 9LIb/kg)
=1 — = o ®R&ER X RHRRESET

=o yabaslly) mB FREHD 68) tymh134+137 (b994136+137)

253 [EB= X (F4v8) B8N ET<FL 2B (K) NS 7.3
254 |R=E O X (F4vE)  |BBLLHIR 68 (8) T 10.8
255 [EB= YOS UR LT AT BT &R L 3H(®) NS 9.3
256 |R=E Ja1—uXN)— [BLmBEEH 13H(B) ESE 8.7
257 |R=E e BB MRS E | 29H (k) A& 9.6
258 |R=E ED BB LT AHRET 13H(B) ESE 6.2
259 [E= <] EBLLI T AHIET 208 (8) T 6.6
260 [E= <] EBLLI T A HET 23H (K) T 11.0
261 [ER= <] 8L R AR 1485 (N) 11.9 10.8
YREES <] 8L A ST 22H (k) T 7.8
263 |[R=E ED EBUHEARIE<A | 27TH(B) A& 11.4
TEES E7 ELLHEMNETLS | 24H(R) NS 6.3
265 [E= E7 ESLLUHEMNETILS | 24H(R) NS 5.4
266 [ER= <] ELTHMNTIEE [27H(B) T 8.4
267 |[ER= 72w oY — BRI AHRE] 21H(CN) 12.2 7.8
268 [ER= JIL—RU—  |EBILHhiEEiE 13H(B) T 8.3
269 [E= ZIL—ARU—  [ERLRHENETER [ 21HCK) T 6.1
270 |R= J)L—_Y—  [BIUHHAEETSE | 298 (k) A& 10.3
EEES ARSI X BLUmEXALLATRER [ 135(8) A& 5.6
2712 |[Zfib BA ELLEREDTA | 16H(CK) 90.3 5.5
273 |[Zfib BA ELLTE#EDTA | 206H(B) 116.2 5.5
214 |[Zfib BA B EREITZHE | 7THC) 160.1 5.6
275 |[Zofib BA B L E AT Z HE [ 158 (k) 340.3 5.5
2716 |[Zfib BA ELLTEHITE L 68 (B) 82.3 9.1
271 | ZDfib o X (158) BB 2T 248 (£) T 7.0
218 |Zfib o X (158) 8L = A HHE] 23H () T 8.6
279 [Zofib oX (158 BLHEXEETECA| 228 (0K) NS 5.8
280 [Zofk oX (188) N N 29H (k) 113.3 10.1
281 [Zofib X (EhE) BT HANEE] 21H(N) T 7.5
282 |[Zofib ] BT H AN BT 21H(N) NS 5.6
283 [Zofib B+ BB LT AT 148 (N) T 5.7
284 [Zofk B+ ()\iE) BB LT EHATET 13H(8) NS 5.4
285 [Zofib INED EBLLI T 5 A0 E] 22H (k) NS 5.4
286 |Z0fib Hr3ay () |BUFmHEEDER | 135(A) NS 9.6
287 |[Zofib BER BLHERITZHE [ 106(2) 264.9 6.0
288 [Zofib v (PVX) [BRLHERILET 28H (N) NS 7.5
289 [Zfib S/ (EY) |HNE =& 6H(8) NS 12.6
290 [Zofib 7F (188) HNE=FH] 6H(8) & 8.4
291 [H27TEFEX K (ZKXK) HA™ 13H(8) NS 9.0
292 [H271EFEEX X (BX) Ao 148 (N) NS 8.9
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